8 7 6

5

ITEM

NO. PART DESCRIPTION PART NUMBER | QTY.
1 ASSY - HOUSING - Sll\llI\CIBJIEEC—TIESUND - 55MM - NON- 102-105-00009 4
2 O-RING - 60 ID x 2.0 DIA 101-105-00051 4
3 O-RING - 531D x 2.0 DIA 101-105-00025 1
4 ASSY - BEARING LUG - LAYSHAFT 102-103-00079 2
5 SCREW - SKT_HD - M5 x 30 - BZP 101-101-00079 2
6 WASHER - FLAT-M5x 9.8 x 1.5 101-103-00016 2
7/ LAYSHAFT - LINKAGE - 295 LG 102-215-00140 |
8 ASSY - FUEL RAIL - EXTRUDED - HONDA - F20/K20 102-107-00063 1
9 WASHER - FLAT - M6 x 12.5 x 0.9 101-103-00007 2
10 SCREW - SKT_HD -Mé x 16 - BZP 101-101-00062 2
11 | FLANGE PLATE - HONDA - K20 - DC5 55 MM UNIVERSAL | 102-213-00088 1
12 ADAPTOR - WATER OUTLET - K20 DC5 102-214-00130 1
13 O-RING - 67 ID x 2.0 DIA 101-105-00041 1
14 ASSY - LINKAGE - UNIVERSAL - 4-CYL - OLD- EXT- M4 | 102-115-00078 1
15 ADAPTOR - UNlVERS?\SLTbHP%I\IIQ%A - K20 - 55MM - RH - 102-214-00132 9
16 ADAPTOR - UNIVERSAL - ggRNT[))A - K20 - 55MM - LH (STD 102-214-00133 9
17 SCREW - SKT_HD - M5 x 12 - BZP 101-101-00078 | 26
18 SCREW - SKT_HD - M4 x 10 - BZP 101-101-00036 4

SECTION A-A

8 7 6

3

ISSUE DESCRIPTION ECN | DRN | CHK | DATE
0] INITIAL RELEASE A1117 | SHOW A-SHFT 13/07/17

S

COPYRIGHT (c) 2013
AT POWER LTD
UNIT 9, CHESTNUT DRIVE, WYMONDHAM,
NORFOLK, UK, NR18 9B

UNLESS OTHERWISE STATED:

DIMENSIONS IN MILLIMETRES

TOLERANCES: LINEAR + 0.1 ANGULAR # 0.5°
SURFACE FINISH &/ = &

DRAWING STANDARDS TO ATQS 6003

DATE FORMAT: DD/MM/YY

THIS DESIGN IS THE PROPERTY OF
AT POWER THROTTLES LTD AND
MUST NOT BE REPRODUCED OR
COMMUNICATED WITHOUT
AUTHORITY

CAD PLOT
DONOT
SCALE

4

ISOMETRIC VIEW Q

THIRD ANGLE PROJECTION
SCALE

DRAWN-  S.HOW

pate- 13/07/17

cHeckep-  S.HOW

APPROVED -

WEIGHT
1:5 3.5kg

A.CLIFTON

MATERIAL
SEE COMPONENT PARTS

FINISH
SEE COMPONENT PARTS

DRAWING TITLE

ASSY - HOUSING - UNIVERSAL -
HONDA - K20 - DC5 - 55MM-
(STD PORT)

DRAWING NUMBER

102-109-00048  ozns



]
. .
J/ L
= N 2
) (=) \T_‘ D ©
[ ] [ ] !
M1 [ T[] | | | | | [T T ]
E
3 ™ Lo L0 0 Ne} N
(@) — O N O < —
— (o0} (4] (@) L w0 N ™

94

0L —a '
<~
= 3
N o
N o

2x @ 5THRU ALL
6x1.0 - 6H THRU ALL

141

COPYRIGHT (c) 2013
AT POWER LTD
UNIT 9, CHESTNUT DRIVE, WYMONDHAM,
NORFOLK, UK, NR18 9B

UNLESS OTHERWISE STATED:

DIMENSIONS IN MILLIMETRES

TOLERANCES: LINEAR + 0.1 ANGULAR + 0.5°
SURFACE FINISH &/ = &

DRAWING STANDARDS TO ATQS 6003

DATE FORMAT: DD/MM/YY

THIS DESIGN IS THE PROPERTY OF

AT POWER THROTTLES LTD AND CAD PLOT
MUST NOT BE REPRODUCED OR DONOT
COMMUNICATED WITHOUT SCALE
AUTHORITY

4

DETAIL F

MATERIAL

SEE COMPONENT PARTS

//R |
W — FINISH
SEE COMPONENT PARTS

SCALE WEIGHT DRAWING TITLE
2 25kg ASSY - HOUSING -
DRAwN- - S.HOW UNIVERSAL - HONDA - K20 -
pate- 13/07/17 DC5 - 55MM- (STD PORT)
checki. . S.HOW DRAWING NUMBER

APPROVED- A CLIFTON

3

102-109-00048 <202 a3



	Sheet1
	Drawing View1
	Drawing View4
	Section View A-A

	Sheet2
	Drawing View6
	Drawing View7
	Section View E-E
	Drawing View10
	Detail View F (1 : 2)


